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AR 7 [Al PR A (L1+L2)Xa/bXk = 4,253 m 4.25 km
L1: PRA X3P B (m) 70
L2- BREXBIN R BI O MR IS5
" EEAE(200m) 200
a: PR XIOE (m) 45
b: HEMB10m) 10
k: HiEREGERXY) 3.5
AT IEE: (L14L.2)Xa/bXk = 1,890 m 1.89 km
L1: fgdT Iy BEEE (m) 70
Lo, FRUTICHIA RN R
" FEFE(50m) 50
a: fiEHT KIE Ol (m) 45
b: T REIE(10m) 10
k: HiEREGRXY) 3.5
B RS A Ik R
PRA IO NE N A= 3,153.3 nf
PRAS (X I PN e
L1 3,153.3 + 70.0 45 m
PRAT X IR D1
a 3,153 + 45 70 m
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AR 7 [Al PR A (L1+L2)Xa/bXk = 3,512 m 3.51 km
L1: 4 XKk N EERE (m) 62
L2- S ES N ES SAN O L = A N o i I3
" FREE(200m) 200
a: BEAXILONE (m) 38
b: B IRE(L0m) 10
k: fRELRERGEELY) 3.5
AT AT (LI+L.2)Xa/bXk = 1,501 m 1.50 km
L1: fEATRIEP 424.00 62
Lo, FRPTICHIARIAR
" FERE(0m) 50
a: FRHTRILONE (m) 38
b: fEATRIRR(L0m) 10
k: fRELRERGEERLY) 3.5
T AR X I T
PRAT DI O i B A= 2377.1 nof
A KO hE
a - 2,377.1 + 62.0 33 m
PR X PN B fE
L1 2,377.1 + 38 62 m
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REBIER i 7 [P R 2 4.25 25 =43 7.8 km
RE-1 BE-2 ®&E-3 B4 s
3.51 3.51 = 35
KR B
EATIAIE R 1.89 .89 = 1.9 3.4 km
RE-1 BE-2 ®BE-3 B4 s
1.50 1.50 =15
IR ESE B
1 H Y VEERIEE N=nix(1.00+E1+E2) X E3 X EA X E5 X T
N=5.4%(1.00+0.00+-0.05) X 1.00 X 1.00 X 0.80 X6.0=  24.60 km
N: 1H%YOHEELE (km/ H)
ni: 1RFE4Y OFEAEGE A A (5.4km/h) 5.4
El: WHEROEENMTARE WK 0.00
E2: FEIFEEREREIMIEFREK 400mAfiti  -0.05
E3: BGMERaiE iRk L 1.00
E4: A MROEESRE it 7 1) 1.00
E5: EERFH X R iRE SkmA i 0.80
T: 1HOREEZEREY (6h/ H) 6
KR B
BRBRERH i 5 mERE 4 km +~  24.60 0.2 = 0.2 0.3 H
RigRs B
4 km =  24.60 0.1 = 0.1
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wokiEE (BEHR)

BREmE L& 7T 10.00 X +10.00 X n =314 314 m2
HMERT R 5 T
BREREmE 314 X 5T 1,570 m2

EKERENERE B 5
1HYIEERER  A=ai X (1.00+E1+E2+E3+E4) X E5 X E6 X E7 X T
A=170%(1.00+0.00+0.00+0.00+-0.10) X 1.00 X 0.87 X 1  798.70 km

A 1HSYOFREFERHm2/ H)

ai: LS DA A(m2/h) ZEHRICED  170.0

El: WXy HE I ERE HENZKIR  0.00

E2: B ER S EI M ERE Ll 0.00

E3: RERKIRXHENHIERS i 0.00

Ed4: SEELA S HE I IERR K 1~1.5m  —0.10

E5: BUGLMEXSH R FERL 1.00

E6: AZEXYHE IR 10mAH  0.87

E7: {E3ERH X aE AR5 SkmA{it 1.00

T: 1 HOHIEERERERY (6h/ H) 6

TEKERAL B ¥ 1,570 m2 +  798.70 i) = 2.0 2.0 H
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% W (S) JEREARYE (S,)
TS PR % R A FoH % R
76 0.000 20.0 0.00 0.0 0.00 0.00 0.0
76 + 4.000 4.000 15.19 7.60 15.2
76 + 6.000 6.000 30.0 25.00 150.0 19.30 17.25 69.0
77 + 0.000 4.000 27.9 28.95 115.8 21.70 9.65 38.6
78 + 0.0000 10.000 26.7 27.30 273.0 21.60 21.65 216.5
79 + 0.000 10.000 36.7 31.70 317.0 31.70 26.65 266.5
80 + 0.000] 10.000 47.0 41.85 418.5 42.10 36.90 369.0
81+ 0.000] 10.000 49.2 48.10 481.0 45.10 43.60 436.0
82+ 0.000] 10.000 70.0 59.60 596.0 65.70 55.40 554.0
82 + 4.000 4.000 85.0 77.50 310.0 72.20 68.95 275.8
82 + 6.000 2.000 64.26 68.23 136.5
83 + 0.000 6.000 79.0 82.00 492.0 0.00 0.00 0.0

& & 70.000 3,153.3 62.00 2,377.1
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220m(70m)
200m (50m) 200m (50m)
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ACFREMR (W5 RE)
PRAY X5k N FRFE 30 + 30 + 50 + 50 40
+ 40 + 20 4+ 20 = 280 | m
R XA R ER O
77 R B9 % R 200 + 220 4+ 200 + 200 200
200 + 200 = 1,420 m
T AR
EAERIER (280 + 1,420 )X 3.5 = 5, 950 m
= 6.0 km
fEAT XIS R R Wi 7 1R150m 50 . - . 5 N 5 5
50 + 50 = 370 m
T AR
FREATHRIE R ( 280 + 670 )X 3.5 = 3,325 m
= 3.0 km




